
≔δtræ 19 mm

≔δal 4 mm

AL består af 1m^2 plader

≔Aal 1 m2

≔αal.udven 15 ―――
W
⋅m2 K

≔αtræ.indven 25 ―――
W
⋅m2 K

≔λal 250 ――
W
⋅m K

≔λtræ 0.15 ――
W
⋅m K

≔λisolation 0.04 ――
W
⋅m K

≔tfl1 253.15 K

≔tfl2 298.15 K

≔t4 296.15 K

＝＝Φkonvek.invendig Φledning Φkonvek.udvendig

＝Φkonvek.udvendig ⋅⋅αudv A ⎛⎝ −t4 tfl2⎞⎠

=≔Φkonvek.udvendig ⋅⋅αal.udven Aal ⎛⎝ −tfl2 t4⎞⎠ 30 W
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=≔U ―――――
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⋅Aal ⎛⎝ −tfl2 tfl1⎞⎠
0.667 ―――

W
⋅m2 K
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≔δisolation 1 mm
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≔δisolation Find ⎛⎝δisolation⎞⎠

=δisolation 50.666 mm


